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m = 1 <=> a = 18 ?@ > b = 4 ?@ > c = 5 ?@ >
S = [1360, 1361, 1364, 1368] <= ?@A? B
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m = 1 <=> a = 6 ?@ > b = 3 ?@ > c = 2.5 ?@ >
S = [66, 68, 70, 74] <= ?@A? B
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m = 3 <=> a = 4 ?@ > b = 3 ?@ >
S = [516, 517, 519, 522] <= ?@A? B
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m = 4 <=> a = 4 ?@ > b = a
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α = π/4 > S = [12, 14, 17, 21] <= ?@A? B
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m = 4 <=> a = 6 ?@ > b = 3 ?@ >
~S ⊥ AB > S = [8, 9, 11, 14] <= ?@A? B
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m = 2 <=> a = 7 ?@ > b = 2 ?@ >
S = [340, 342, 344, 347] <= ?@A? B
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m = 2 <=> a = 3 ?@ > b = 2 ?@ >
c = 1 ?@ > S = [38, 40, 43, 47] <= ?@A? B
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m = 5 <=> a = 8 ?@ > b = 4 ?@ >
c = 1 ?@ > S = [655, 657, 660, 664] <= ?@A? B

'()(*( +,-. /] / ^ 34O :K39G5 ME:_86348

a a

b

b

� ~S

A
c

m = 1 <=> a = 8 ?@ > b = 5 ?@ >
c = 1 ?@ > S = [89, 90, 93, 96] <= ?@A? B
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m = 39 <=> a = 1 @ > b = 2 @ >
S = [44, 45, 48, 51] <= @A? B
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m = 1 <=> a = 5 ?@ > b = 3 ?@ >
c = 2 ?@ > S = [130, 132, 135, 139] <= ?@A? B
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A

m = 2 <=> a = 6 ?@ > b = 1 ?@ >
S = [910, 912, 915, 918] <= ?@A? B


